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2.

R I BHY R N HEY R 7
(A) T
(B) Ha
(C) w3

(D) T

TR o e & el wfRa R 2
(A) &

(B) I

(C) e

(D) forem

g, #ma fzu o fawed | A fam gfo
(A) dEaH

(B) qeh

(C) e

(D) warg sah

2RSP3/11/2023

Cal Y2 £ 1B, A e R 3l A, X H |4,

EERNIRECI e S ST

*Ta % g s R g
ABC, GHI, MNO, 7
(A) RST

(B) STU

(C) PQR

(D) QRS

R e e § & TR T
g |

TR A 2
(A) @™

(B) woeh

(C) ==

(D) 9w

6. R B T AR T A 16 g 2

@ I F DN TR RN Be g
woft ?

(A) 25
(B) 26
(C) 27

(D) 28

(2-B)



[Q1HO]

X and Y are two brothers. B is the brother |4-

—
.

of A and A is the mother of X. How is B

relatedto Y ?

(A) Maternal uncle
(B) Mother

(C) Brother

(D) Father

5.

Just as ‘Court’ is related to ‘Justice’, in the
same way ‘School’ is related to which of

the following ?
(A) Class

(B) Student
(C) Teacher

(D) Education

3.

Select the odd one out from the options
given below,

(A) Aecroplane

(B) Bird

(C) Tanker

(D) Aerial umbrella

"311/2023 (3-8)

Choose the missing letters of the series
ABC,‘GHI, MNO, _?_

(A) RST

(B) STU

(C) PQR

(D) QRS

Choose the word with related similarity

from the given options.

Room : Floor : : River : N

(A) Bottom

(B) Fish

(C) Whale

(D) Water

If 16" is on the third Friday of a month,
then which date will fall on the fourth

Tuesday of the same month ?
(A) 25
(B) 26
(C) 27

(D) 28




5

E :

7. frafafea § @ s orfa A, FRE ot |9. s wen s Hifm -
FAET & ST graey euidl 8 ? ,
@ .
. 4 16
- 2 2
» () o
©) eq’ LS
‘ W(B) 24
o) ©© 30
* D) 32
8. I+ H ;I T, T H A 2, U e )
2 0 /T JG ‘4 F Al
12+6+3-2x8=7 10. o= ¥ 1 A
(A 81
A) 835 12, 21, 23, 82, 34, 9
B) 37
) 9+ ;
4
: (C) 36
(D) 95
(D) 42
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5

g,

. Which of the following figures shows the|9. Find the missing number :

¥

relationship between tables, chairs and

furniture ? v
(A) 4 16
g ) 2
(A) 8
(C)
(e o

(C) 30

(D) .
(D) 32

< - - ’
If “+" means ‘=, ‘“+’ means ‘~’, ‘-’ means ‘x

and ‘" means ‘+" then

19+ 643 2% 8=2 10. Find the missing number :

A ﬁl 12,21, 23,32, 34, ?
2
(A) 43
(B) (11
(B) 37
o ) b ]
4 (C) 36
{l)’ &, ]
9 () 42

3172023 (5-8)
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gy & 11 -15 (FaA0T-1 G ATHIRT)

ATaut-1

12, Fefafga & 4 #wa wes wm w5
Sftoffyol e 2 2

wft FAft, wrem e wm ot (&) R
FHaTE W ed 2 | o IR e oW A
e A e e i A (C) w1 T
e # g W R | e e g
T WA § gy wR E qen R ) (D) IEH qo =3 2
SR 0 | I o e e se o
T & S T P W wE wwwd | A1 T PR T TRl 3

W ful|, T oW TE % e =h
A oafton W s W owww R

- B) I= AT =
o S odelt T ¥ an e et

(B) =91 (distress)

(A) F=1 finron =

Froae = O ¥ | TR AR T e 2 B (C) R W HE g &
T T @0E T Al | O Ha9E W S
=Tw % T avug & aun Sw=ad Feare = & _
oot i fore s 5w R E A g, | Tr e P I S o
1 afvta @ & fau TRE W& H 3w R

L : (A) Aol
I 2 | qui, gRE & A (distress) H

(D) aﬁmwﬁqmﬁﬁ@m

qfafia &1 9@ 61 JWEA @@ R | T R R (B) wmemd

A ardl wfyerts @ g i & Sholafivl € (C) " wfex whftufyi
= €A Y (D) e

11. g=2H 2

165. WEWWW@GWW%
(A) 3= frwrm 6 sy
(B) 3 freres 4 s

(C) 4@z w61 3y

(A) wii-asfl F=a0
(B) @«
(C) FRI A

(D) 394w A A @¢ 7E

(D) 39gw iy
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Passage-1

All the challenges, problems and

difficult circumstances put us to stress.
Thus, if handled properly, stress increases
the probability of one’s survival. Stress
gives ‘energy, increases human arousal
and affects performance. High stress can
produce unpleasant effects and cause our

performance to deteriorate. Conversely,

too little stress may cause one to feel low
on motivation, Which may lead us to
perform slowly and less efficiently. It is
important to remember that not all stress
is inherently bad. ‘Eustress’ is the term
used to describe the level of stress that is
good and is one of a person’s best assets
for achieving peak performance. Eustress,
however, has the potential of turning into
‘distress’. It is this latter manifestation of

stress that causes our body’s wear and

tear,

L. Eustress is

(A) Sometimes good

(B) Bad

(C)  Always good

(D) None of the above

(7-

31112023

12. Which of the following caﬁses wear and

tear in our body ?

(A) Eustress
(B) Distress
(C) Normal Eﬁ'ecft
(D) Both — Distress and Eustress
13. Little stress may cause
(A) Low motivation
(B) High motivation
(C) No effect on motivation
(D) Both high and .low effect on
motivation
14. Stress is not generat’ed by which one of
the following ?
(A) Challenges
(B) Problems
(C) Difficult circumstances
(D) Resources
15. Too high level of stress leads to
'(A) High performance
(B) Low performance
(C) Pleasant effect
(D) - All of the above
B)
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17, senfies s Rl Feo &1 swi e

B (A) @M
%lﬁw,mw,q@gaﬁ(ﬁw% R
SmfisETE A gEg | oW, e e | .

AT ! AT S8 ATETTH R | (D) ESHIHE HHE-Teaafiemt

Al 1 T T e A R, Ao w sm fre s R W e
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e 2 il o9E % Wi vl < FdEd (D) 39 wft
ST fraradi 1 g= S Siofa (feedback) |
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iTeRd  AHE-TaEERT TH AT A) fasnfa
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ﬁélmmmmaﬁﬁ (C) &
%Wamaﬁéﬁﬁarﬁﬁ?mm (D) WEE
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g0, Frfifea # A frm vt o am @ g
16 mﬁamﬁﬁiﬁqaﬁ%uﬁmﬁmﬁm Hfza frm s 2 9

e e B w faifa

() A (B) @m

(B) @i (C) =afra vfady
(©) “Ha-sfaurfe I et
(D) Z9dw & | F1g TE

(8-B)
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17.' Subjective experience that uses imagery is

0 uestions No. 16 - 20 (Based on Passage-2)
Passage-2 (A) Cognition
Stress plays a mgmﬁca'nt role in (B) Personal experience °
physical ~diseases. Hypertension, heart , '
disease, diabetes and even cancer are (C) Emotion
linked to high level of stress. Therefore, (D) Creative visualization

knowing techniques to manage stress is

very essential.

Relaxation  technique  is an |18. The approach to replace jrrational

important skill that reduces symptoms of thoughts with rational ones is called
stress. It calms the mind and relaxes the
body. Deep breathing is used in this
technique. The yogic method of meditation (B) Cognitive behavioural technique
consists of a sequence of learned '
techniques for refocussing of attention that v
brings about an altered state of (D) All of the above

consciousness. The biofeedback 1i1s. a

(A) Meditation

(C) Creative visualigation

procedure to develop awareness to monitor
and reduce the physiological aspects of |19. Which technique is used to calm the

stress by providing feedback about current mind ?

physiological activity. | (A) - Relaxation technique
Creative visualization is a subjective (B) Bioféedback

experience that uses imagery and

imagination. Cognitive behavioural (€)  Meditation

techniques are meant to replace negative (D) Courage

and irrational thoughts with positive and

Tational gnes.
20. Refocussing of attention could be done by

1g which of i hni ?
6. Developing an  awareness for the of the following techniques

pPhysiological responses is known as (A)  Relaxation

i ((1:) Visualization (B)  Meditation
3)  Learning
5 (C) Ct re 1 S 1
(©) Biofeedhack 1ange in personality
(D) None of the above (D) All of the above
.,%p3/11/2023 (9-8)
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21. 4 PUFG W HEARA KA 27 R |

a Rﬁhﬁmw%mﬁaﬁmm%?%m

weal A & wad w) Hen A

(A) 32

(B) 36

(C) 30

(D) 28

22,

A 3R B B 0 ST 5 : 4 o g
aa&t@wﬁmﬁﬁ4:3wmm|ﬁi'

mm@mﬁ,ﬁwﬁmgﬁmﬁw
= B § 9

1 FATH 1Y Tereett | 2
(A) 8=
(A) ¥ 15,000
B
R - (B) 16,000
© 107 (C) ¥ 17,000
(D) 1274 (D) ¥ 18,000
' 25. T I I W 65%
e o & HT ® 3R gy
23. Trricfan witwet @ wivw i - ¥ 525 T TR | R 3wy i o
36, 72, 49, 45, 60, 33, 52, 61 it 72 S wmR?
(A) 52 (A) ¥ 1200
B) ¥ 150
(B) 60 ( 0
(C) ¥ 1800
(C) 49 |
(D) ¥ 2100
(D) 61
2RSP3/11/2023 (10-8B)
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N

. The average

3.

:

of 4 consecutive even

numbers is 27. The largest of these

numbers will be
(A) 32
(B) 36
(C) 30

(D) 28

The present ages of A and B are in the
ratio 5 : 4. Two years ago the ratio of their

ages was 4 : 3. What is -the present age of
A? |

(A) 8years

(B) 9 years

(C) 10 years

(D) 12 years

Find the median from the following data :

36,72,49,45,60,33,52,611uui72
(A) 59

(B) 60
(C) 49

(D) 61

%p3l 11/2023

24.

25.

(11-8B)

The following pie-chart the

expenditure details of a family. If the total

shows

expenditure on food is ¥ 4800, then how

much is the total expenditure on all the

items ?

Retail -
10%

Clothes
5%

(A) ¥ 15,000

(B) T 16,000

(C) ¥ 17,000

(D) ¥ 18,000

Ram spends 65% of his salary and saves
¥ 5625 per month. Then what is his

monthly income ?

(A) T 1200

(B) ¥ 1500

(C) = 1800

D) % 2190
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26. f=fifas = w6 wfom & @0 9 H[28. 19 100 ¥ stg feadt W TEEd €, R 3
R Hiftu - TR 4 & 7 aa Qe fawfaa gidt 2, afey
: ITH 4 U 31 & &9 A oft T 8 ?
y -4
7
(A) 7
0 3 '
4 (B) 10
3. 2 (C) 20
6 :
(D) 21
4 8
9
(A 1,2,3,4 29. A Q FETA F AT 9 v T yeRd H
iy % 3, @ 3 det gt
(B) 2,4,3,1 '
(A)- 1TE 8
(C) 4,8,2,1 ,
B) 2w 7
(D) 3,4,1,2 (C) 6w@3
D) 4w 5 ;
,.
1. 5
4-359 x 4-359 — 1641 x 1-641 ‘ 27
21 4-359 — 1-641 THE? g0, wem 20 fowm st wemait w. i
B ?
(A) 63
(A) 210
(B) 60
(B) 300
(€) 50 5‘
(C) 400 |
!
ik (D) 420 ;
g
2RSP3/II/2023 ; ZRSPE
|
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el

_ Arrange the following in descending order|28. How many such numbers are" there
of their magnitude : between 1 and 100, each of which is not
5 only completély divisible by 4 but also
1. 7 contains 4 as a digit ?
‘ 3 A 17
2. 1
(B) 10
5 9
6 (C) 20
8 -
4 9 ' (D) 21
(A) 1,2,3,4 29. If the sum of two numbers is 9 and the
sum of their reciprocals. is 1 , then those
B) 2,4,3,1 . ¢
numbers will be
C) 4,3,2,1 (A) 1and8
(D) 3,4,1,2 B) 2and 7
(C) 6and3
A (D) 4and 5
T. The value of 4359 * 4359 — 1641 x 1-641
Y - 1’ 1
4RbY =108 30. What will be the sum of the first 20 odd
is :
natural numbers ?
(A .
‘ ) 63 (A) 210
(B) 60 (B) 300
(€) 5.0 (C) 400
D) 7.3 (D) 420
b
F'5"3/11/2023
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31, 3 et vl s BAGST 1 43778, R 30 i, 2023 @ FwEw @, @ o T,
' forat S 2, A 47592 N IR\ w3 . .
fore wanr foran smom 2 2023 = H foq o1 2
(A) 56683 (A) haw
(B) 55683 o
(©) 55738 TFm
(D) 56873 , (C) gwaw
, (D) WeER
52 T R ‘e ‘e ey
FE S, m’ﬁ%@’mm,m’ﬁ .
m’ﬁmﬁtm’ﬁﬁa’mm’ 36.,msgﬁm&iﬁaﬁr¢mﬁmgﬁmw%
T T e A ? mémmwmo
(A) TreR ~
(B) wehH (A) 17
(C) ==x ® 18
(D)
T ©) 42
33‘ﬁqwm%mnqt?aﬁmw (D) 43
=31 fifsu |
Wﬁ:“ﬁw::mﬁu 2
&) =g e 5. “mwmmﬁﬁqmaﬁ%m
(C) wefa “ﬁ“‘m»é@w,m
(D) Tzam; '
(A) @0
34, mmﬁmw%,ﬁrﬁﬁmqﬁmm
BRI I R O LI t- Eop— oo
o | (B) 5
(A) Agadde
(B) wre (©)
(C) JuF
(D) werEy
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G
g1, Ifin a code 1*“;?‘;?{%3233687 is written as|gp, 1 30th January, 2023 was Monday, then
i 8, how wi e writt in th
43('17715’mlgumage 9 o e what was the day on 2" March, 2023 ?
code !
(A) 56683 (A) Sunday
(B) 55683 (B) Thursday A
(C) 55738 _
(C) Wednesday
(D) 56873
. (D) Tuesday
32. If ‘man’ is called ‘woman’, ‘woman’ is
called ‘boy’, ‘boy’ is called ‘girl’, ‘girl’ is
called ‘pilot’ and ‘pilot’ is callé d ‘child, 36. Manoj ranks seventeienth in a class of
then who will fly the\ acroplane ? 59 students. What is his rank from the
' ?
(A) Pilot last !
(B) Girl (A) 17
(C) Child (B) 18
(D) Man (C) 42
' D) 43
On the basis of the following analogy, (D)
choose the correct option.
Prediction : Future : - Guilt : ? 87. Choose the diagram that best represents
iction : :: Guilt : 7
a) P ¢ P the relationship among the given classes :
resen
(B) Misdeed Engineers, Accountants, Professionals
(D) Repent 8
j34. Few names are given that share a O O
, (B)
Common feature, except one. Choose the (e
0dd one out.
(A) Iceland (C)
(B) Malta
(C) Japan (D)
(D) Belarus
b )
531172023 (P
‘ -
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(1M

gs, @R amg 1@ 100 b A W wem fored §, |41

a et "R 7 fo@n 2
(A) 20
(B) 21
(C) 22

(D) 19

39. ‘SR =1 w=mw ‘SR ﬁ‘%, W TE
"R

“Smt w1 Ty
(A) I

(B) »HE

(C) FEHA

(D) HATIET

40. faofafiga @ @ 1981 & 1&g “Educational”

gjez & AN & I W& FE A S

a7 7

(A) LION

(B) NATIONAL
(C) DEAN

(D) NEAT

2RSP3/11/2023

43.

(16-8B)

« ¥ sTEen ° surell gen gl

71,73,79,83,89, 7

(A) 96

(B) 97
(C) 98

(D) 99

42. IR B THA 30% 2 & 2, fm 209 i 3

<t 2, f $a ge grit
A) 50% |

(B) 42%

(C) 44%

(D) 56%

afe &P AR Q & frw A g« e,
T Q M W& R F o 7t y Foh
2, M WP M I R F v A 7h

(A) x+Yy

(B) x+y¥ 3ifus
(C) x+y¥ &0 Y1 qua
(D) 394 § Q@ @d 74

2F
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If you write down all the numbers from
1 to 100, then how many times do you

write 77
(A) 20
(B) 21
©) 22

(D) 19

“Berlin” is related to “Germany” in the

same way as “Jakarta” is related to
(A) UK

(B) France

(C) Indonesia

(D) Malaysia

Which one of the following words cannot
be formed by using the letters of the word
“Educational” ?

(A) LION

‘B) NATIONAL
‘©) DEAN

( l)) Nl‘:Arl‘

.

41.

42.

43.

(17-8B)

‘The next number in this series will be

71, 73,79, 83, 89, _?_

(A) 96

B) 97

(C) 98

(D) 99

If a shop gives 30% discount and then
provides another 20% ‘discount, then the

total discount will be
(A) 50%

B) 42%

(C) 44%

(D) 56%

If the distance between city P and city Q
is x km and the distance between city Q
and city R is y km, then the distance
between city P and city R is

(A) x+y
(B) greater than x +y
(C) less than or equal tox + y

(ID) None of the above
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44, R weH F AN A A A el B e, |46,
e & fEa 8 arcll el A i v

g, al

(A)Waﬁmﬁ@,nﬁ !

S |

B) Wwaﬁﬁﬁﬁﬁ|

©) g we 5 wew H Hfw F gom

e gefar 2

(D) 394w ¥ | 1S 78

45. T Frimn 1 TfE FE 0 TEi e

2

(A) Fear aafl & fae qug s @
(B) a1 @1 @ad fa@n &5

(C) (A)aﬁr(B)iﬁi

(D) 394 d | F18 T

2RSP3/11/2023

(18-B)

H&ﬁéS,Pwﬁ%’@mm%,zﬁgﬁél
AT e ST T W T R 2

A) =f s, pd
(B) F3S,P¥
©) TS, Padid

D) I & & =

+ 8

(B) T & 7wt i

i qmwﬁmmwm@aﬁﬁ



5.

middle of the road is much more than the

accidents occurring on the side of the

road, then

(A) Make the citizens aware

construct speed breakers

(B) Organize celebrity events

(C) Infer that walking in the middle of

the road is safer

(D) None of the above '

Postponement of an event is

administrative way of

(A) Taking time for better preparation

(B) Teaching a lesson to the populace
©) Both (A) and (B )

(D) None of the above

R'“’3/11/2023

" 44. If the number of accidents occurring in the 46.

and

47.

an

(19-B)

If ‘No S is P’ is a false statement, then
which of these statements is necessarily

true ?

(A) AllSisP

(B) SomeSisP

(C) Some Sis not P

(D) None of the above

If you find that the question paper is too
difficult and seems to be out of the

syllabus, what will You do first ?

(A) Tell the examiner that questions are

out of course
(B) Copy from others
(C) Walk out of the examination hall

(D) Tryto solve the questions as much as

possible
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48'v-q&24 a1, 1979 H WeEn ? @ Frefafag

49.

T 3 - fafd reEm R 2
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1f 24th July, 1979 is a Tuesday, then 51. From the options listed below, identify

o ) _ which one is not a communication skill.
which of the following days is a Tuesday ?

(A) Active listening

(A) 215t July, 1980 (B) Empathy

B) 2274 July, 1980 (C) Complexity

(D) Open body language
(©) 23 July, 1980

52. Which one of the following is not a

(D) 24" July, 1980 component of Emotional Intelligence ?

(A) Self-awareness

(B) Self-motivation

. If two cows are tied to a common pole and | (C) Conflict representation
the length of the ropes are P and Q, where| (D) Social skiHs :
P is greater than Q, then the total area : :
grazed by both the cows will be ___. |88. What is Problem solving ?
: ' _ (A) The ability to identify the problem,
(A) nP2 . cause of the problem, analyse
_ e solutions and implement the best
(B) =Q2? solution.
(B) The ability to describe the
(C) nP2 + nQ? traditional knowledge of
: 4 - communities accumulated over
D) 7P — Q2 several ‘generations.

(C) The ability to help two parties to
resolve their differences.

; (D) The ability to read books and
0. Decision-m aking is a process. give/provide comprehensive and

- detailed information about an issue.
(A) Cognitive
54. 'Training in Brainstorming signifies

| (B) Superficial (A) Decrease in creative problem solving
| oy y
[ © Random (B) Increase in intelligence
(C) Neutralising of creativity
(D X y )

) None of the above (D) Decrease in intelligence
2
3115003 (&~ 2
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55 From the options liste(.i below, identify the|gg, Which one of the following options~ is not a
barrier in communication. part of conflict process ?
(A) Disinterest (A) Potential opposition or
incompatibility

(B) Clear message
(B) Intentions

(C) Lack of confusion
’ (C) Motivation

(D) Physical comfort (D) Behaviour

56. What does an interview imply ?

(4)  Data analysis | 59. Which thinker said, “Non-verbal elements
are more important in communication” ? '

(B) Observation
"(A) Bandura

(C) Communication

(B) Mehrabian

D ) ) . -
(D) Face-to-face conversation (C) Ellsworth

.. ) D
57. “Communication is the transference and (D) Carl Jung

understanding of meaning.” - Who gave

this definition ? ’
SEEIRON 60. Which of the following is not related with
(A) Robbins Social Networking‘:’
(A) Threads
(B) Stewart
(B) LinkedIn
(€) Taylor
(C) Instagram
(D) McGregor (D) eBay
2 -
RSP3/11/2023 (23-8)




CISE
o

13T (T97 &9 61 & 65) : 12y 7 TET F
W RERIRET ¥e7) & 3av o

TE9-1

TECIT % TR 3 S R oo 5
aﬁga%nsﬁaqa%mwwv&mél
w&mwmwﬁnaﬁmwmé | T
axf%s%@ﬁaméﬁa%a#fm | e
SR % T e wom R | w aw
YRS % UREN 1 SEer Y@n S wwe & S
Tl % & il TH-UH g THT H Ige F o491 K1
T 2 | TR I T A RN T 9 Feet
&R ARGl 8, 9H: 29 KT AT wgd R | '

e

61. A @is % 69 gel 7 2 2
(A) e
(B) gfiym
©)

(D) s

2RSP3/11/2023 (24-8B)

62.

63.

64.

65.

39 TS 3Ry sfides B

(A) =T =1 2w

(B) uywed 1 gfem

(C) wm g afeem

(D) uftem : gwerar HY Hoft

nywaE fre @ weg SR w2 2
(A) |EA | Fiv AR

(B) FEl & T F Th-Uh g ThT F0 |
(C) %—%mﬁ@mmm ‘
(D) FEl W HEq T

St H Ahe 5 e Y et 2 o
(A) dftem

®)

© e

(D) wTETR

wﬁmmmﬁwm§?
(A) widit |
(B) gk
(C) Wi
(D) Aftedit



;%ﬂ(wg'@wss#m): g 7 e 3 s

: Wwﬁgyﬁ%mi?ﬁ?/

- T2

| 1857 % facra 1 Rt um Rar of,
;  s3I0 @ wRa F W gEa fn e
| e 3 3R @ T A A el a-or
| s feen & e fyaw ft & G o ) s
i Tl P o1 6 vt it wmeiRe
' wmmaﬁmaﬁsﬁm%m
P e o IA: I TR FE SR I hl
T v A ) g B | R Y e
5 o § 7r frewd s fen o 5 st @
T E SrEE w6 v @ e T E,
T o | R 7 6w s s
T WS A aRiE e % g st W
= e et T <61 s 2 |

% T s % fewm vg el @
. 1R

(A) =0 % i afiw sy =R |
B) s e # w=En wen @R |

©) s v # foren 2 =iz |

D) wnfumm w1 famm faar s =R |

!
A leB/ 11/2023

67.

68.

69.

70.

(25-8B)

Yeger F 4 B
(A) @ifirepr =gd
(B) aftrepR Ik
(C) el &
(D) & o

mﬁﬁmﬁwm@r?

(A) 3O & T & Sfar 5 FhaT 2 |
(B) il & Tl & e < T 2 |
(©) dﬁﬁﬁﬂsﬁaﬁm?‘é’f%l

(D) 3w & Sfaw 3G I=T & G WEF A

1857 = favera @ 7wt 3 w41 fshd fepran 2

() el B ST @ qErE S Ew

(B) Wl & %2 & Srefl S Ghdt ® |
(C) wReRl I Thar IR U 3w >

’ fmwma? |

(D) Wi & fore fyd wres st €
I A F e G ot

(A) TSR T 3R T e
(B) Qe &) e

(C) w2 & yramn

(D) #rgdal A yrag




CIsE
a5

R3%r (To7 G&AT 71 @ 75) : o 717 T & ey

W REfEd 593 & I e |

TETI-3

@@ﬁ-a@mnﬁvmawmmamna;m
Tl A | i Wi @ w2 e g sy
%amé;mmé—cﬁﬁmm@raﬂtﬂ%mum
F U | MR AR R e I e wPate
%H@ﬁmﬁ?{'@m%mgﬁqa—aﬁww
& g |maﬁﬂ@%ﬁ=ﬁmw%mm
5 @1 ? PR ¥ W | B a7 TR 6
TR A A, @ g B owR §
1 RS SR g S deaia %
T €4 § | 91 A 97 e @ Wt w5 o

T & T, & FH-FT T & =t B sy
W ummﬁmm@awm

Tar A m'q@nmmfﬁmﬁaﬁﬁm-

9T |

71 T w R
(A) & g
(B) <% Jq
(C) < e
d»'ﬁmﬁm

2RSP3/11/2023

72. %ﬁmm%maﬁmqsﬁwmmém»

A) faema

(B) I
(C) favafyae=
(D) =it

78. TG % fFE o W e Wik R
(A) FA R
(B) W W
C) Rm

(D) @ w

4. A % T A 3

75. Fﬁm-w%a;q,—gm%?,

(26-B)



r

i (777 ATT 76 & 80) : 13T TG T F SR | 77, s % won wp e £ feafy o
st & I AT | | |
,wﬁ"’ﬁﬁ” (A) T T
a (B) 3am W
o . (C) 7eIH W
THCa AT AeH TAT TS H S § | ‘
T4 T @ AT g | 9 i e R qon () el d
| T F ] YRITA i, IF G TERA AIEH I
T W A1 9T I WA wmwieht orerfq 3w | 78. YA 1 T R
wa s # fafa qun fafiee T @ifvs (A) Y=AT %1
T TR G AT | W W TH WA @i ) we
TR IS W FEA R TR weaseda wwa # _
i A YT 3 o w ff o | (O G
T T e e e w o R aE A D) Mg e
= 2 wen % wum whaw ¥ ooider § off 98
| T Sd Wew g € 9 2 | o7 ok @ d (79, ST TeH A H YR w3
Waqmqﬁaaaagq%@%mm (A) 1000 =¥
TF Tgg = 4
T T E @ R A g off 5 3w f, (B) 1500 Y i
T a9y JE % 999 ted @ 9 | tud 9g @6
‘ﬁmmmé_mamﬁvﬁaﬁql © 200
(D) 500 a4 g
" e o
80. araftar v % S §
‘A) AreEER
(A) g
B) forran
(B) vi&g
©) e s wfrafag
X ' (C) viyd
D) vt
(D) wiva 23g
2




3
81. ‘A=’ H wyfyar g -
(A) =

(B) faymm

(C) 3=
(D) ArerEn

%ﬁf*ﬁ’,

82. ‘wUSr 1 wafuEreh 77 2 -

(A) Yol
(B) s
©) w
D) T

83. ‘Wﬁl‘m?qﬁ%;
(A)Eﬁ;msnét|
(B) S sar & |
(C) Mg A= |
D) FSHITF |

84. ‘s 1 forelt g a1 A g w4 fert [ g,

T 1 FHEA B ?
(A) mmﬁm
(B) e

(C) ¥gam.

(D) 9reTeT=A

85. ‘eemd®’ wez frl wed & 9

(A) f9u& a9 vez &

B) & v ez @ 3r% wid Franc

2RSP3/11/2023

86.

87.

88.

90,

(28-B)

HH-H1 T 5E I 8 ?
(A) YEE — T

(B) diER —y&R

(C) WEE — g

(D) TR — farereh

& SIS e 7T A ;
(A) T
(B) am
(C) dYmarEn
(D) f&



96. <N vz 1 wAiTETh T R

97. ‘@ w form1 ol qEn e w7 & 3H FE
3
(A) e
(B) weaT
() weE
D) I™

98. ‘Tar’ 3rec &1 faem &N
(A) whivt |

(B) 3
(C) =

(D) 3I=HR

99. U¥’ veg w1 wafEETh B -

(A) ef

(B) ufy

(C) uy

(D)

100. T& faeimeds 3w g :

(A) Y —=gaH

(B) Tords — TS

(C) YW —gm™

(D) 31Efth — T

(29-B)



